[ Efficiency vs vertpos |
- 05

0.95 ] :
1072 10 1

10 0?
TP vertr (cr%)

_mKE_Troriginal

_mkFit_TTNEW

_mkFit_TTNEW50
mkFit TTNEW100

<4

DQ
DQ
Efficiend —— B3

~n 0.2

R e f e St ¥ S R
0 E : : : : :
Z0.16------ AR IEL SRR AR | P
> E : : : : :

g C : : : : :
R S R S

B F : : : :
£0.12-- R R SR

o E : : : :

O SRt R St
0.08F--- """"
0,06+ fo o]
T

00z~ Hfph
R R (Tt

x5
-

Ratio

[
T
L

0¥/ —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>

Q. 0.18f
c o
7 0.16
£0.14F
& o
c0.12

e
o o . . . . . . .
e O e s S S A
@ r . . . . . . .
O e A S
Y N A e

0.04F
0.02F

1.0

Ratio

[IESERERPE B : : S EE EREPE

052510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


